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Basic concepts TyFAF� �y¡Af� .1.5 Differential equations TylRAft�� �¯ A`m��

Differential equations are the best way to describe most engineering, mathematical and scientific

issues alike, such as describing heat transfer processes or fluid flow, wave motion and electronic

circuits and using them in issues of the structural structures of matter or the mathematical de-

scription of chemical reactions.

Basic concepts TyFAF� �y¡Af� 1.5

�l� �¡� ��¤ , TylRAft�� �¯ A`m�� ¨� �y¡Afm��¤ �Af§r`t�� �� T�wm�� �Of�� �@¡ �mSt§

: �y¡Afm��

This chapter includes a set of definitions and concepts in differential equations, the most important

of which are:

1.1.5 : Definition - �§r`�

�¯w�tm� Tbsn�A� r��� ¤� ��At� �AqtK� ¤� �®RAf� Yl� ©w�� T� A`� �� ¨¡ TylRAft�� T� A`m��

: �kK�� �� ¨¡¤

A differential equation is every equation that contains differentials or derivatives of one or

more functions with respect to variables and is of the form:

(E) F
(
x, y, y′, . . . , y(n)

)
= 0.

1.1.5 : Example - �A��

dx

dy
z + ydx = u

: Y�� TylRAft�� T� A`m�� �nO�¤

The differential equation is classified into:

r��� ¤� ��At� T§ A� �®RAf� ¤� �AqtK� Yl� ©w�� TylRAf� T� A`� ¨¡ : T§ A� TylRAf� T� A`� -1

Ordinary differential equation: It is a differential equation that contains derivatives or ordinary

differentials of one or more variables.
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Differential equations TylRAft�� �¯ A`m�� Basic concepts TyFAF� �y¡Af� .1.5

2.1.5 : Example - �A��

ydx+ xdy = ez.

¤� ��At� Ty¶z� �®RAf� ¤� �AqtK� Yl� ©w�� TylRAf� T� A`� ¨¡ : Ty¶z� TylRAf� T� A`� -2

r���

Partial differential equation: It is a differential equation that contains derivatives or partial

differentials of one or more variables.

3.1.5 : Example - �A��

∂x

∂y
= zx.

¤� ��At�� �� �k� Tbsn�A� TyW�  wk� ¨t�� T� A`m�� ¨¡ : TyW��� T§ A`�� TylRAft�� T� A`m�� -3

. Ah� ��º�d� Yl� ©w�� ¯ ¤ Ah�AqtK�¤ ���wt��

For the linear ordinary differential equation: it is the equation that is linear with respect to each

of the function(s) and their derivatives does not contain their products.

Ty¶z��� �AqtKml� Tbsn�A� TyW�  wk� ¨t�� T� A`m�� ¨¡ : TyW��� Ty¶z��� TylRAft�� T� A`m�� -4

.­ w�wm�� ���wt�� ¤� ��Atl�

Linear partial differential equation: It is the equation that is linear with respect to the partial

derivatives of the existing function or functions.

1.1.5 : Remark - T\�®�

.Ahy�  w�w� �tK� Yl�� Tb�r� ¨¡ T� A`m�� Tb�r�  � -1

The order of an equation is the order of the highest derivative present in it.

.Ahl� �yhst� r�µ �kJ �� TylRAft�� T� A`m�� �§w�� �km§¤ -2

The differential equation can be converted from one form to another to facilitate its solution.

Order and degree T�Cd��¤ Tb�r�� 1.1.5

Order Tb�r��
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Basic concepts TyFAF� �y¡Af� .1.5 Differential equations TylRAft�� �¯ A`m��

2.1.5 : Definition - �§r`�

¨�  w�wm�� (¨lRAft�� ��A`m�� �FA� AS§� �¤r`m��) Yl�±� �tKm�� Tb�C w¡ : TylRAft�� T� A`m�� Tb�C

.T� A`m��

The order of a differential equation : is the order of the highest derivative (also known as

differential coefficient) present in the equation.

4.1.5 : Example - �A��

dy

dx
+ y3 = cos(x)

.Y�¤±� T�Cd�� �� TylRAf� T� A`� ©� ,
dy
dx

�¤±� �tKm�� Yl� Xq� ©wt�§

Contains only the first derivative dy
dx
, which is a first order differential equation.

5.1.5 : Example - �A��

d3x

dx3
+ 3x

dy

dx
= ey

.T��A��� T�Cd�� �� TylRAf� T� A`m�� £@¡ ,¢n�¤ ,3 w¡ �tK� Yl�� Tb�C ,T� A`m�� £@¡ ¨�

In this equation, the order of the highest derivative is 3 hence, this is a third order

differential equation.

Degree T�Cd��

3.1.5 : Definition - �§r`�

.­ d�m�� TylRAft�� T� A`m�� ¨� Tb�C Yl�±� �tKm�� ­wq� TylRAft�� T� A`m�� T�C �y�m� �t§

The degree of the differential equation is represented by the power of the highest order

derivative in the given differential equation.

.A¡d§d��  �rm�� T�Cdl� �AqtKm�� ¨�  ¤d��� ­ d`t� T� A`� TylRAft�� T� A`m��  wk�  � 	�§
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Differential equations TylRAft�� �¯ A`m�� Basic concepts TyFAF� �y¡Af� .1.5

The differential equation must be a polynomial equation in derivatives for the degree to be defined.

6.1.5 : Example - �A��(
dy

dx

)4

+

(
d2y

d2x

)3

+ y = cos(x)

¨�  ¤d��� ­ d`t� T� A`� ¨¡ ­AW`m�� TylRAft�� T� A`m��¤ 2 Tb�r�� �� �tKml� w¡ Yl�± x±� ,An¡

.T��A��� T�Cd�� ¤ Ty�A��� Tb�r�� �� T§ A� TylRAf� T� A`� ¨h�  Ð� .�AqtKm��

Here, the up exponent is of the derivative of the highest order derivative is 2 and the given

differential equation is a polynomial equation in derivatives.

So it is a Second Order Three Degree ordinary differential equation

¨¶Ahn��¤ ¨¶�dt�³� ªrK�� 2.1.5


��w���  A�§� AS§� �nkm§ ,T§ A`�� TylRAft�� T� A`m�� �� �� �q�t�� �n� 
wlWm�� �¶Asm�� ¨�

YW`� ¨t�� Ty¶�dt�³� ª¤rK�� �§rV �� �t§ ��Ð¤ ,T� A`ml� �A`�� ���� ¨� ­r¡A\�� T§CAyt�³�

. T§�db�� ¨�

In the problems you are required to check the solution of the ordinary differential equation, you

can also find the optional constants that appear in the general solution to the equation, and this

is done through the initial conditions that are given at the beginning.

,�y§CAyt�� �yt�A� Yl� ©wt�� ,®�� Ty�A��� Tb�r�� �� TylRAf� T� A`m� �A� ��  w�¤ �A� ¨�¤

.T� A`ml� �yy�AR� �yVrJ �yt�A��� d§d�t� �zl§

In the event that there is a general solution to a differential equation of the second order, for

example, that contains two optional constants, two additional conditions for the equation are

required to determine the constants.

, T§d� AV¤rJ ª¤rK�� 
�A� y(x2) = y2, y(x1) = y1 �ytflt�� �ytWq� dn�  AVrK�� YW�� �Ð�

. T§d��� Tmyq�� T��s� :T§d��� ª¤rK�� Y�� T�AR³A� TylRAft�� T� A`m�� 
ymF¤

If the two conditions are given at two different points y(x1) = y1 and y(x2) = y2, then the
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Solving dif. equations TylRAft�� �¯ A`m�� �� .2.5 Differential equations TylRAft�� �¯ A`m��

conditions are boundary conditions, and the differential equation is called in addition to the

boundary conditions: the issue of value limitation.

Solving dif. equations TylRAft�� �¯ A`m�� �� 2.5

T§A�l� ­dyf� 
sy� Ahnk� .A� º¨J �}w� �d� Ty`ybV Tq§rV TylRAft�� T� A`m��  wk�  � �km§

.¨¡ Am�

A Differential Equation can be a very natural way of describing something. But it is not very

useful as it is.

!Ahl�� T�A�� ���

We need to solve it!

Ah��d�tF� �km§ �� ��¤ ,T� A`m�� �q�� ¨t�� (y ��¤d�� T�wm�� ¤�) y T��d�� d�� A�dn� Ahl��

.�A�n�

We solve it when we discover the function y (or set of functions y) that satisfies the equation, and

then it can be used successfully.

4.2.5 : Definition - �§r`�

:TylRAft�� T� A`ml� ®� y = y(x) ¢��d�� ¨ms�

We call the function y = y(x) a solution to the differential equation:

F (x, y, y′, y′′, ..., yn)

if : 
�A� �Ð�

1- is n times differentiable. . ­r� n �AqtJ°� Tl�A� -1

2- checks the differential equation i.e.: : ©� TylRAft�� T� A`m�� �q�� -2

F (x, y(x), y′(x), ..., y(n)(x)) = 0

.Ahl� Tyfy�¤ TylRAft�� �¯ A`m�� �� Tflt�m�� ��w�±� {`� Yl� ­r\� ¨qln� �@h�

So let’s look at some different types of differential equations and how to solve them:
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Differential equations TylRAft�� �¯ A`m�� Solving dif. equations TylRAft�� �¯ A`m�� �� .2.5

Separation of Variables ��ry�tm�� �O� 1.2.5

,TylRAft�� �¯ A`m�� {`� ��� T}A� Tq§rV ¨¡ ��ry�tm�� �O�

Separation of variables is a special method to solve some differential equations,

When can i use it? ?Ah��d�tF� �km§ Yt�

	�A� Y�� (dy ��Ð ¨� Am�) y �A�lWOm�� �ym� �q� �km§ :A�dn� ��ry�tm�� �O� ��d�tF� �km§

.r�µ� 	�A��� Y�� (dx ��Ð ¨� Am�) x �A�lWO� ��¤ , T� A`m�� �� d��¤

Separation of Variables can be used when: all the y terms (including dy) can be moved to one side

of the equation, and all the x terms (including dx) to the other side.

7.2.5 : Example - �A��

.��ry�tm�� �O� Tq§rW� TylRAf� T� A`� �� ���r� �Rw� �wF �A�m�� �@¡ ¨�

In this example, we will explain the stages of solving a differential equation by separating the

variables.

dy

dx
= ky

x  ¤d� ��¤ T� A`m�� �� d��¤ 	�A� Y�� y  ¤d� �� �§r�� �§rV �� ��ry�tm�� �y� �Of� :1 ­wW���

:r�µ� 	�A��� Y��

Step 1: Separate the variables by moving all the y terms to one side of the equation and all

the x terms to the other side:

dy

y
= kdx

:�Ofn� �kK� T� A`m�� ¨�rV ��Ak� :2 ­wW���

Step 2: Integrate both sides of the equation separately.∫
dy

y
=

∫
kdx =⇒ ln (y) + C = kx+D

.�lt�� 
�A� ¢�± , r�µ� �rWl� D �d�ts�¤ .��Akt�� 
�A�� C ®�� �d�ts�

C is the constant of integration. And we use D for the other, as it is a different constant.

(a = D − C) d��¤ 
�A� Y�� �yt�A��� �§w�� Annkm§ :Xysbt�� :3 ­wW���
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Solving dif. equations TylRAft�� �¯ A`m�� �� .2.5 Differential equations TylRAft�� �¯ A`m��

Step 3 Simplify: We can roll the two constants into one (a = D − C)

ln (y) = kx+ a⇒ y = cekx, (c = ea)

.¨qyq��� ���w�� Tl��� �� d§d`�� ¨� rh\� ,Y�¤±� Tb�r�� �� TylRAft�� �¯ A`m�� �� �wn�� �@¡

This type of differential equations are of the first order, appearing in many real-world

examples.

8.2.5 : Example - �A��

Solve the following differential equation: : Ty�At�� TylRAft�� T� A`m�� ��

xy2dx+ (1− x2)dy = 0.

: Yl� �O�n� y2(1− x2) Yl� T� A`m�� ¨�rV �sq� : ����

Solution: We divide both sides of the equation by y2(1− x2), so we get:

xdx

1− x2
+

dy

y2
= 0

�y�rW�� ��Akt� : ¨l§Am�  wk� Ahl� Tq§rV¤ ��ry�tm�� �Of� Tl�A� TylRAf� T� A`� ¨¡ ¨t��¤

Which is a differential equation that can separate the variables and the way to solve it is as

follows: By integrating the two sides∫
xdx

1− x2
+

∫
dy

y2
= 0⇒ −1

2
ln
(
x2 − 1

)
− 1

y
= c

⇒ ln
(
x2 − 1

)− 1
2 − 1

y
= c

⇒ 1

y
= ln

(
x2 − 1

)− 1
2 − c,

So the solution to the differential equation is w¡ TylRAft�� T� A`m�� �� ¨�At�A� ¤

y =
(
ln
(
x2 − 1

)− 1
2 − c

)−1
.

Linear differential equation TyW��� TylRAft�� T� A`m�� 2.2.5
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Differential equations TylRAft�� �¯ A`m�� Solving dif. equations TylRAft�� �¯ A`m�� �� .2.5

5.2.5 : Definition - �§r`�

. Y�¤±� T�Cd�� �� T� A`m�� ¨� T�AqtK�¤ ��At��ry�tm��  A� �Ð� TyW� TylRAft�� ¢� A`m��  wk�

The differential equation is linear if the dependent variable and its derivatives in the equation

are of first degree.

:  wk� Y�¤±�Tb�r�� �� TyW��� TylRAft�� T� A`ml� T�A`�� ­CwO�A�

The general form of a linear differential equation of the first order is:

dy

dx
+ yP (x) = Q (x)

It is called linear in y. .y ¨� TyW� Yms�¤

: ­CwO�� Yl� Ah��� x ¨� TyW��� T� A`m�� A��

As for the linear equation in x, it takes the form:

dx

dy
+ xa (y) = b (y)

: �kK�� �� Y�¤±� Tb�r�� �� TylRAft�� T� A`ml� �A`�� ����

The general solution of the differential equation of the first order is of the form:

y = e−I(x)
(∫

eI(t)Q (t) dt+ c

)
where : : �y�

I (x) =

∫
P (x) dx

and c is a constant. . 
�A�  d� c ¤

9.2.5 : Example - �A��

: Ty�At�� TylRAft�� T� A`ml� �A`�� ���� d�¤�

Find the general solution to the following differential equation:

(y + y2)dx− (y2 + 2xy + x)dy = 0

: ¨�At�� �kK�� Yl� Ah`R¤ �km§ �y� , x ¨� TyW� T� A`m�� : ����

The solution :

The equation is linear in x, so it can be put in the following form:
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Solving dif. equations TylRAft�� �¯ A`m�� �� .2.5Differential equations TylRAft�� �¯ A`m��

dx

dy
+ xa (y) = b (y)

d�� dy(y + y2) Yl� T� A`m�� ¨�rV Tmsq�

Dividing both sides of the equation by dy(y + y2), we get

dx

dy
− y2 + 2xy + x

y + y2
= 0

so that  � ©�

dx

dy
− y2

y + y2
− 2xy + x

y + y2
= 0 =⇒ dx

dy
− 2y + 1

y + y2
x =

y2

y + y2

d�� Y�¤±� T� A`m�� �� T��An�� T� A`m�� T�CAqm�

By comparing the resulting equation with the first equation, we find

b (y) =
y2

y + y2
, a (y) = −2y + 1

y + y2

Then ¢n�¤

I (y) = e
−

∫ 2y+1

y+y2
dy

= e
ln
(

1
y+y2

)
= e− ln(y+y2) =

1

y + y2

and ¤∫
I (y) b (y) dy =

∫
1

y + y2
y

y + 1
dy =

∫
1

(y + 1)2
dy = − 1

y + 1

be the solution of the equation T� A`m�� ��  wk§

I (y)x =

∫
I (y) b (y) dy + c

1

y + y2
x = − 1

y + 1
+ c

so ©�

x = −y + c(y2 + y), c ∈ R

. TylRAft�� T� A`ml� �A`�� ���� w¡¤

It is the general solution to the differential equation.
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Differential equations TylRAft�� �¯ A`m�� Solving dif. equations TylRAft�� �¯ A`m�� �� .2.5

Homogeneous equations Ts�A�tm�� �¯ A`m�� 3.2.5

:�kK�� Yl� 	tk�  � �km§ A�dn� Ts�A�t� Y�¤±� T�Cd�� �� TylRAft�� T� A`m��  wk�

A first order Differential Equation is Homogeneous when it can be in this form:

dy

dx
= F

(y
x

)
.v =

y

x
d§d� �ry�t� ¸Kn� ¾¯¤� �k�¤ ��ry�tm�� �O� ��d�tFA� Ahl� Annkm§

We can solve it using separation of variables but first we create a new variable v =
y

x
.

.TylRAft�� T� A`m�� �� Annkm§
dy

dx
= v + x

dv

dx
¤ y = vx �§w�t�� ��d�tFA�

Using y = vx and
dy

dx
= v + x

dv

dx
we can solve the differential equation.

.���Ð �t§ �y� �RwyF �A�m�� �@¡

This example shows how this is done.

10.2.5 : Example - �A��

Solve �wl� d�¤�

dy

dx
=

x2 + y2

xy

Can we get it in F ( y
x
) style? ?F ( y

x
) �kK�� Yl� Aht�At� Annkm§ �¡

We have: :An§d�

x2 + y2

xy
=

x

y
+

y

x

=
(y
x

)−1
+

y

x

So ¨�At�A�¤

dy

dx
=
(y
x

)−1
+

y

x
.

Now use separation of variables ��ry�tm�� �O�  ±� �m`ts�

y = vx and
dy

dx
= v + x

dv

dx
= v−1 + v
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Solving dif. equations TylRAft�� �¯ A`m�� �� .2.5 Differential equations TylRAft�� �¯ A`m��

=⇒ x
dv

dx
= v−1

=⇒ vdv =
1

x
dx

=⇒ v2

2
= lnx+ ln c

=⇒ v2 = 2 (ln cx) =⇒ v = ±
√

2 (ln cx)

Now substitute back v = y
x

v = y
x
þ� {§w`t�A�

y

x
= ±

√
2 (ln cx)⇒ y = x±

√
2 (ln cx).

Bernoulli equation ¨�w�r� T� A`� 4.2.5

A Bernoulli equation has this form: :�kK�� @��� ¨�w�r� T� A`�

dy

dx
+ yP (x) = Q (x) yn

.1 ¤� 0 �� �lt�§ ¨qyq�  d� ©� w¡ n �y�

 wk§ A�dn�¤ .Y�¤±� T�Cd�� �� TyW� TylRAf� T� A`m� T� A`m�� �� �km§ n = 0  wk§ A�dn�

Ahl� Annkm§ n þ� «r�±� �yql� Tbsn�A� .��ry�tm�� �O� ��d�tFA� T� A`m�� �� �km§ ,n = 1

.TyW� TylRAf� T� A`� Y�� Ahl§w��¤ u = y1−n �� {§w`t�A�

where n is any real number but not 0 or 1.

When n = 0 the equation can be solved as a first order linear differential equation. When n = 1

the equation can be solved using separation of variables. For other values of n we can solve it by

substituting u = y1−n and turning it into a linear differential equation.

11.2.5 : Example - �A��

Let the differential equation TylRAft�� T� A`m�� �kt�

dy

dx
+ yx5 = x5y7

:{§w`t�� Tq§rV 
r�n� , n = 7 ¤ Q(x) = x5 ¤ P (x) = x5 �� ¨�w�r� T� A`� ¨¡

It is a Bernoulli equation with P (x) = x5, Q(x) = x5, and n = 7, let’s try the substitution:

u = y1−n = y−6
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Differential equations TylRAft�� �¯ A`m�� Solving dif. equations TylRAft�� �¯ A`m�� �� .2.5

In terms of y that is: :AnyW`� y ­CAb`�

y = u−1/6

:x Y�� Tbsn�A� y �tK�

Differentiate y with respect to x:

dy

dx
=
−1
6
u−7/6

du

dx
.

Tyl}±� T� A`m�� ¨� y ¤
dy
dx

|w`�

Substitute dy
dx

and y into the original equation

−1
6
u−7/6

du

dx
+ x5u−1/6 = x5u−7/6

Multiply all terms by −6u7/6 −6u7/6 ¨� ��rV±� �� 
rS�

du

dx
+ x5u = −6x5.

.Ahl� �km§ T� A`�  µ� An§d�

We now have an equation we can hopefully solve.

Riccati equation ¨�Ak§C T� A`� 5.2.5

A Riccati equation has this form: :�kK�� @��� ¨�Ak§C T� A`�

dy

dx
+ P (x) y2 + q (x) y + r(x) = 0 (1)

; TyW� T� A`� (1) T� A`m��  �� , p(x) = 0  A� �Ð�

If p(x) = 0; then equation (1) is linear;

; ¨�w�r� T� A`� ¨¡ (1) T� A`m��  �� ; r(x) = 0  A� �Ð�

If r(x) = 0; then equation (1) is Bernoulli;

�Ofl� Tl�A� ��ry�t� ��Ð (1) T� A`m��  �� , 
��w� r ¤ q ;p  A� �Ð�

If p; q and r are constants, then equation (1) is separable

dy

py2 + qy + r
= dx
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12.2.5 : Example - �A��

TylRAft�� T� A`m�� ��

Solve the differential equation

y′ = y + y2 + 1.

,T�whs� y ¤ x �§ry�tm�� �O� �km§ An¡ .Tt�A� �®�A`� ��Ð TWys� ¨�Ak§C T� A`� ¨¡ ­AW`m�� T� A`m��

�®� �� T� A`ml� �A`�� ���� Yl� �wO��� �km§ �@�

The given equation is a simple Riccati equation with constant coefficients. Here the variables x

and y can be easily separated, so the general solution of the equation is given by

dy

dx
= y + y2 + 1, ⇒ dy

y + y2 + 1
= dx,

⇒
∫

dy

y + y2 + 1
=

∫
dx,

⇒
∫

dy

y2 + y + 1
4
+ 3

4

=

∫
dx,

⇒
∫

dy(
y + 1

2

)2
+
(√

3
2

)2 =

∫
dx,

⇒ 1
√
3
2

arctan
y + 1

2√
3
2

= x+ C,

⇒ 2√
3
arctan

2y + 1√
3

= x+ C.

Second order equation Ty�A��� Tb�r�� �� T� A`� 6.2.5

:�wn�� �� Ty�A��� Tb�r�� �� TylRAf� T� A`� �� Annkm§

We can solve a second order differential equation of the type:

d2y

dx2
+ P (x)

dy

dx
+Q(x)y = f(x)

:��d�tFA� x ¨� ��¤ ¨¡ f(x) ¤ Q(x) ¤ P (x) �y�

where P (x), Q(x) and f(x) are functions of x, by using:

,¨F±� ¤� ,  ¤d���  d`t� f(x)  wk§ A�dn� Xq� �m`� ¨t�� ­ d�m�� ry� �®�A`m�� Tq§rV −
.Amhn� TyW� Tby�r� ¤� ,�Amt�� 	y� ¤� ,	y��� ¤�
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Undetermined coefficients which only works when f(x) is a polynomial, exponential, sine,

cosine or a linear combination of those.

.��¤d�� �� T`F�¤ T�wm�� Yl� �m`� ¨t�� ­ry�tm�� 
��w��� Tq§rV −
Variation of parameters which works on a wide range of functions.

:(Ts�A�t� T� A`� Ahl`�§ �@¡¤) f(x) = 0 Ahy�  wk§ ¨t�� T�A��� �l`t� �db� An¡

Here we begin by learning the case where f(x) = 0 (this makes it ”homogeneous”):

d2y

dx2
+ P (x)

dy

dx
+Q(x)y = 0.

:b ¤ a 
��w� Q(x) ¤ P (x)  At��d��  wk� �y� AS§�¤

and also where the functions P (x) and Q(x) are constants a and b:

d2y

dx2
+ a

dy

dx
+ by = 0.

:TyF±� T��d�� �AqtJ� Ty}A� �d�tsnF

We are going to use a special property of the derivative of the exponential function:

:ex Tmy� ©¤As§ ex �tK� ,TWq� ©� ¨�

At any point the slope (derivative) of ex equals the value of ex :

And when we introduce a value r like this: :��� r Tmyq�� ��d� A�dn�¤

f(x) = erx.

We find: :d��

f ′(x) = rerx and f ′(x) = r2erx

A�d�As§ �wF �@¡ .f(x) �Af�AS� �� Am¡®� f(x) þ� Ty�A���¤ Y�¤±� �AqtKm��  �� , «r�� ­CAb`�

!�ry��

In other words, the first and second derivatives of f(x) are both multiples of f(x). This is

going to help us a lot!

1.2.5 : Theorem - T§r\�

Let the differential equation TylRAft�� T� A`m�� �kt�

d2y

dx2
+ a

dy

dx
+ by = Q(x)
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Ah� ­zymm�� T� A`m�� zym� ∆ = a2 − 4b �ky�¤

and let ∆ = a2 − 4b be the discriminant of the characteristic equation of her

r2 + ar + b = 0

:w¡ Ah� �A`�� ����  �� ­zymm�� T� A`ml� ¾�C¤@� r2 ¤ r1 
�A� ¤ ∆ > 0  A� �Ð� −(1
If ∆ > 0 and r1 and r2 are roots of the characteristic equation, the general solution is:

y = C1e
r1x + C2e

r2x + yp(x)

.QA� �� yp(x) ¤ 
��w� C2 ¤ C1 �y�

where C1 and C2 are constants and yp(x) a particular solution.

:w¡ Ah� �A`�� ����  �� ­zymm�� T� A`ml� Af�AS� ¾�C@� r  A� ¤ ∆ = 0  A� �Ð� −(2
If ∆ = 0 and r is a double root of the characteristic equation, then the general solution

is:

y = erx (C1 + C2x) + yp(x)

.QA� �� yp(x) ¤ 
��w� C2 ¤ C1 �y�

where C1 and C2 are constants and yp(x) a particular solution.

:w¡ Ah� �A`�� ����  �� ­zymm�� T� A`ml� ¾�C@� r = α + iβ  A� ¤ ∆ < 0  A� �Ð� −(3
If ∆ < 0 and r = α + iβ is a root of the characteristic equation, then the general

solution is:

y = eαx (C1 cos (βx) + C2 sin (βx)) + yp(x)

.QA� �� yp(x) ¤ 
��w� C2 ¤ C1 �y�

where C1 and C2 are constants and yp(x) a particular solution.

13.2.5 : Example - �A��

Let the equation T� A`m�� �kt�

d2y

dx2
+

dy

dx
− 6y = 0
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Let y = erx so we get: :Yl� �O�� ¢n�¤ y = erx �ky�

dy

dx
= rerx and

d2y

dx2
= r2erx

Substitute these into the equation above: :Tq�As�� T� A`m�� ¨� {§w`t�A�

r2erx + rerx − 6erx = 0

Simplify: :Xysbt�� d`�

erx(r2 + r − 6) = 0 =⇒ r2 + r − 6 = 0.

!T§ A� Ty`y�r� T� A`� Y�� TylRAft�� T� A`m�� An�zt�� dq�

We have reduced the differential equation to an ordinary quadratic equation!

:Y�� ��A`�� �@¡ �yl�� Annkm§ .­zymm�� T� A`ml� QA��� �F¯� Ty`y�rt�� T� A`m�� £@¡ YW`u�

This quadratic equation is given the special name of characteristic equation. We can factor this

one to:

(r − 2)(r + 3) = 0 =⇒ r1 = 2 and r2 = −3

and so we have two solutions: :�yl� An§d� ¢n�¤

y1 = e2x and y2 = e−3x

Yl� �wO�l� �yt�A�³� �y�Ah� Tflt�� �Af�AS� �y� �m��� Annkm§ ¢�± Ty¶Ahn�� T�A�³� 
sy� £@¡ �k�

:Ty�wm� r��� ��

But that’s not the final answer because we can combine different multiples of these two answers

to get a more general solution:

y = Ay1 +By2 = Ae2x +Be−3x

14.2.5 : Example - �A��

4
d2y

dx2
+ 4

dy

dx
+ y = 0
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The characteristic equation is: :¨¡ ­zymm�� T� A`m��

4r2 + 4r + 1 = 0

Then ¢n�¤

(2r + 1)2 = 0 =⇒ r = −1

2

So the solution of the differential equation is: :w¡ TylRAft�� T� A`m�� �� ¢n�¤

y = Ae(
1
2
)x +Bxe(−

1
2
)x = (A+Bx) e(−

1
2
)x

15.2.5 : Example - �A��

(I) :
d2y

d2x
+ y = 2

The characteristic equation is: :¨¡ ­zymm�� T� A`m��

r2 + 1 = 0

then ¢n� ¤

r1 = i and r2 = −i.

So the solution is in the form: �kK�� Yl� ����  wk§ ¢n�¤

y = C1e
it + C2e

−it + yp(t)

.(rl§¤� T�y} ¨¡¤ «r�� ­Cw} ¨� ¢`R¤) C�dqm�� �@¡ Xysb� d§r� An¡¤ ,QA��� ���� yp(t) �y�

Where yp(t) is the special solution, and here we want to simplify this amount (put it in another

form, which is Euler’s formula).

C1e
it = C1 cos(t) + iC1 sin(t) and C2e

−it = C2 cos(t)− iC2 sin(t)

:d�� (Th�AKm��  ¤d��� ­A��r� ��) ¾A`� �yt� A`m�� �m��

Adding the two equations together (taking into account similar terms), we get:

y = C1e
it + C2e

−it = (C1 + C2) cos(t) + i(C1 − C2) sin(t)
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: ¨¡ T� A`m�� �bOt� 2 þ� ©¤As� QA��� ����  � ©� (I) T� A`m�� ¨� {§w`t�A� ¤

And by substituting in the equation (I), that is, the special solution is equal to 2, so that the

equation becomes:

y = A cos(t) +B sin(t) + 2,

this is the general solution to the equation. . T� A`ml� �A`�� ���� w¡ �@¡¤

Particular solution QA��� ���� ���� 7.2.5

T� A`m�� �q�§ ©@��¤ ,y = f(x) �kJ Yl� ¢�w� �� d§r� �� w¡ TylRAft�� T� A`ml� QA��� ����

��l� Tyfyk�� 
��w�l� �y� �yy`� �§rV �� TylRAft�� T� A`ml� QA��� ���� �AqtJ� �t§ .TylRAft��

.TylRAft�� T� A`ml� �A`��

Particular solution of the differential equation is a unique solution of the form y = f(x), which

satisfies the differential equation. The particular solution of the differential equation is derived by

assigning values to the arbitrary constants of the general solution of the differential equation.

d2y

dx2
+ P (x)

dy

dx
+Q(x)y = f(x)

	y��� �lWO� f(x) �mS� w� Yt� , ��Ð ��¤ .�Amt�� 	y�¤ 	y��� T�� �� ¾®� f(x) �mS� d�

���� �ym�� ¨� �§ w�w� �y�lWOm�� ®�  wk§  � 	�§ ,Xq� �Amt�� 	y� �lWO� ¤� Xq�

	y�¤ 	y���¤ TyF±� ��¤d��¤  ¤d��� ��ry�� �� AS§� ­ry�tm�� �®�A`m�� Tq§rV �m`� .QA���

.�¤d��� �@¡ ¨� yp(x) þ� TWb�rm�� �Anym�t��¤ f(x) þ� Tysy¶r�� �ÐAmn�� {`� Py�l� �� .�Amt��

f(x) may include both sine and cosine functions. However, even if f(x) included a sine term only

or a cosine term only, both terms must be present in the guess. The method of undetermined

coefficients also works with products of polynomials, exponentials, sines, and cosines. Some of the

key forms of f(x) and the associated guesses for yp(x) are summarized in this Table.
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f (x) Initial guess for yp(x)

yp(x) þ� ¨�¤±� �ym�t��

k (a constant) A (a constant)


�A� 
�A�

Ax+B

ax+ b b = 0  A� w� Yt� �y�lWOm�� ®� �mSt§  � 	�§

The guess must include both terms even if b = 0.

ax2 + bx+ c Ax2 +Bx+ C

�rf} c ¤� b  A� w� Yt� T�®��� �A�lWOm�� �mSt§  � 	�§

The guess must include all three terms even if b or c are zero.

n T�Cd�� ��  ¤d��� ��ry�� f(x) ��� 	y�rt�� Hf� ��  ¤d���  d`t�

Higher-order polynomials Polynomial of the same order as f(x)

aeλx Aeλx

aeαx cos βx+ beαx sin βx Aeαx cos βx+Beαx sin βx

(ax2 + bx+ c)eλx (Ax2 +Bx+ C)eλx

(a2x
2 + a1x+ a0) cos βx (A2x

2 + A1x+ A0) cos βx

+(b2x
2 + b1x+ b0) sin βx +(B2x

2 +B1x+B0) sin βx

(a2x
2 + a1x+ a0)e

αx cos βx (A2x
2 + A1x+ A0)e

αx cos βx

+(b2x
2 + b1x+ b0)e

αx sin βx +(B2x
2 +B1x+B0)e

αx sin βx

16.2.5 : Example - �A��

Let �kt�

dy

dx
= x2 =⇒ dy = x2dx

Yl� �O�� ,�y�rW�� ��Akt�

Integrating both sides, we get ∫
dy =

∫
x2dx

Yl� �O�� y Tmy�  A�§³ T� A`m�� £@¡ Anll� �Ð�
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If we solve this equation to figure out the value of y we get

y =
x3

3
+ C

£@¡ �� {§w`t�A� .x ¨� T�� y  � «r� , £®�� ¢yl� �wO��� �� ©@�� ���� ¨� .¨fy� 
�A� C �y�

.�y§¤Ast� TylRAft�� T� A`m�� ¨�rV ®� �bO§ , ­ d�m�� TylRAft�� T� A`m�� ¨� y Tmyq��

where C is an arbitrary constant. In the above-obtained solution, we see that y is a

function of x. On substituting this value of y in the given differential equation, both the sides of

the differential equation becomes equal.

Exercise series N° 5 ��C �§CAmt�� TlslF 3.5

Exercise N°− 1 − ��C �§rm�

TylRAft�� T� A`m�� ��  d�

Determine the solution to the differential equation

3y′ + 4y = 0

.y (0) = 2 ¨¶�dt�³� ªrK�� �q�§ ©@��

which satisfies the initial condition y (0) = 2.

�þþ���

¨�At�� �kK�� Yl� 	tk� T� A`m�� £@¡

This equation is written in the following form

y′ = −4

3
y

w¡ ¨¶�dt�³� ªrK�� �q�§ ©@�� ����  Ð�

So the solution that satisfies the initial condition is

y (x) = y (0) e−
4
3
x

then :©�

y (x) = 2e−
4
3
x.

University of Mohamed Kheidar, Biskra 161 Brahim Brahimi-Jihane Abdelli


